XL T Adj(v, G1) = {vo,v1, ..., 05-1} & L Ai(v) =
Adj(v,Gi),i = 0,1 LB TDLEE Ay(v) =
$(A1(v)), As(v) = 67 (Ao(¢(v))) LED 5.

TER 00, V1, oy Vi1 B (051, 0;) € EG),1£i<
k—12ZWMd&E, <uv,vi, . vk > % vg b
Ukl NDRRENS, TDEE E-1ENRRDES L
9. ¥7, W< (vo, 1), (v1,v2), ..., (Vk=2, Vke1) >
Z v MO vpoy ~DN— R EFEL, k—1%A— bD
BRI LN,

B v € VG,h = deg(v,G) o5 LT
Adj(v,G) = {vo,...,vn-1} EBL L&, §(v,G) =
{deg(v0, @), ...,deg(va-1,)} L ED 5. =7 L,
0(v,G) RZEEERTHD. §(v,G) xRET S L %,
PhrIRTLTED

h: deg(vo, G), ..., deg(vn-1,G)

ERETDHILbDD. 15, h=deg(v,G),v; €
Adj(v,G),0i < h—1Th5.

777 GORTDEAv; €V(G),08j<n—1
RHLT, {8(v0,G), ..., 8(va1,G)} % A(G) L&
LTBEERER LIRS, 2720, AG) bBEEAT
H5.

2ODITT Gy & Gy B A(Go) =
TLE, SAMBETHIL LA

777 GOERuDS v ~OBERK LT, udb G
DUETES>THAVICEET B 82D I bbo b b
WARADRIDZ L THS. HRu,v € V(G) IR LT
w BB v ~ORFEREOR S % sp(u,v,G) £T5. 7212
L, uMmb v ~OIRNARIEE LN E & sp(u,v,G) =n
Elud v BELVL & sp(u,v,G) =0 &T5.

757 GOERv b v ~DL—hT, DHNESE
LWL DEFA I VERR. ZOLEL— DR
EVAIADRES LR, /57 G itBNT, $4
INDOREP b2 EBEOLDEB/INFA 7V LIRS,
777 GRHLT, We=(u,v) 2TLRANFA 7L
DREE me(e,G) B, =KL, Be &8RN
YA ITABFELRNEE me(e,G) =n+1 &T5.

p(G) = {mc(eo, G), ..., mc(em-1,G)} HB/AH A
INERLIEB. p(G) bEEEETHD. V57 C
KHLT, RO 4>0&MKE2H T EBOI S 7
Goy ., Ge—1, 1 S k%757 G OERERL L IES, =
2L, G; = (Vi, B)),08i<k— I,UE,' = E(G)
OV(G) =V U..UVi
@Gi TERE S 7,

QifjizHLTVINY =¢.

A(Gy) %=

2

B1 AZF706
Fig.l  An ezample of a A graph

@ui € V; BEWv; € Vi(i + §) 1R LT (i, 05) ¢
E(G).

777 GOERERZYT7 Gi= (Vi, E)(0Li<
k~1) ZRHLTEDOH ST 7% G, = (Vi, El) &8<.
G=(V(G),UE) 2757 G DEREH /5 7 LIEL.

FRXTIIUT, 757 GRRALT, p(G) % H(G)
EELSZLIET B, p(Go) = p(Gi) 1 H(Go) =
PGLYDEE Gy & Gz pRIETHB LV S,

777G L054,jSn-1XLT, AG,4,G) %
ROEDIZEDD. A4, 5,G) = |{v]i = deg(v,G),j €
6(v,G),v € V(G)}|

ZIELixj=0DHEIIAG,5,G) =0 Th5.

ROZM P(GQ) 22T 7/5 7% A /57 LIRS,

FEP(G): 1£54i,jE<n—1ThaEEDI,jIT
LT
iFj20IEAG5,G) £1 £1FAG,LG) 1T
»H5.
2)i=j ROIFAGLG) L3 ThHA.

3. AUSTODEEM

(FE1UGo~ G THBZ LT, ROZERBRLTS
Bi ¢:V(G1) = V(Go) B"EETH - L LRAETH
2. (Vv € V(G1))[Ao(¢(v)) = ¢(A1(v))]
[FEE2]2 DDA T57 Go,Gy 23 Go~G1 ThBT
BHOLEH R A(Go) = A(G1) ThHB.
(EH] LEEZHERIBELLAROTHLEED LT
1. AGo) = A(G) THBEN Gy ~ G TX
WERETD. |V(Go)| = [V(G))] = n &L
T, Go,G1 Dn ADTEREHMLTUTOL&MES
WleT LSC2BHE P 2EDS. ¢ : V(G) -
V(Go) A(Go) = {6(uo,G0),...,8(un—1,Go)},
A(G1) = {8(v0,G1), ..., 6(vn=1,G1)}, 8(us,Go) =
6(vi,G1),0 S i S n—1, u; = (i), ¢ (wi) =v;,0 £
1Sn-1¢75. Got G THAENLEEL L1,
&3 6(u, Go) =8(v, G1), Adj(u, Go) + Ay(v) &7
FTEA u, v BEET .

0(u,Go) = 8(v,G1) TH D5 Adj(u,Go) &



